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SIXTH SEMESTER B.Com. DEGREE EXAMINATION, 1\'IARCII/APRIL'2016

(UG*=CCSS)

' Core Course

BC 68 L2_INCOME TAX LAW AND PRACTICE

Maximum+€O WeightageTime : Three Hours

I. Objective type questions. Answer all questions :

(A) Choose the correct answer:

1 Income tax is levied on :

(a) Monthly basis.

2 Number of digits in a PAN card are :

(a) 
?

(c) 10.

(b) Quarterly basis. :.

(d) Yearly basis.

(b) 8. ,

l(d) 12.

(D,| UOrmUSSlOn.

(d) Allowances..

.4.'

' 3 In HRA, Salary includes :
/

(a) Basic salary.

(c) AandBboth.

4 Minor's income is clubbed to :

(a) Father's income.

(b) Mother's income.

(c)Fat.Irer'sorrr|other'sincome,whicheverisg1eater.

(B) Fitl in the blanks :

, rr I . . I !. t a - --b lJong term capital gain is derived from
.6 Income from nursery is --..........-- income. "

7 Income tax is s 

---- 
f41. ; ' ' ) :

8 Commissioner oflncome Tax is appointed by -- . '

(C) Answer in one word.

I Wn-at is TDS ?

'10 What is CBDT ?

lr
ll

:r
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11 Wlrat is direct tax ?

' 12 \4hatisFRV?

.

c 17t4

rr' short answers tvpe questions' Answer an ninequestions in one ,, t*jorr"jr?*1-"1.1;eurrtasel18 Who is an Assessee ?
' 74 lt/hat is an assessment year ?

lb What do you mean by Casual fncome ? : 
.

16 What do you mean by short *"*""Orrul gains ?lT Who is a resident ? :

' :.18 lVhar do you mean by Incorne from.salary ?19 \Vhat is the Gross Total Income ?
20 Write any fiue taxable allowances ?27whatdoyoumeanby?firranc'uii"."?'

'. .: 
1

rrr; short essays' Answer any fii.teq,,rg"tiorrr.lEach question carries a werghtagfti 
= g weightage)

22 wrire anv fi.uedeductions 
""0"","*;rr; ;'ir,"o*" Tax Act, 196r.28 What is partly agriculture inc.r urJ .agr-rcu-rture rncome ? Give exampled.24 what do vou mean bv the annual value 

"tn;;;operty ? How it can be determined ?
zE compute gross sarary from the.int"r*.o;;;;;"'below, 

if he is livin-";,ii::".A, enters i"to puy ror services il;;, ""d;";;;;;,f. ffiTf: 
house at

r rialarX 
-Rs. 7,000 p.m.

2 D.A._Rs. 2,000 p.m.
3 C$.A._R9. zb0:p.m.

4 H.R.A._Rs. 2,000 p.m.
5 Commi

26, y ,?:*"",il": ;:":"r""#{ffi"""3i'ffff-*_ 
to be used be+h r^- ^ne : r' as wlfl as for private use. Expenses on this car are : th for ofticial purpose

Driver_Rs. 4g,000.

, Insurance__Rs. 40,000. .

Cost of Car_Rs. g,00,000. :

.j

fflt;rtHft;rt"::t *' to his emplover for the private use of the car. Find out the taxabre



3. c t7r4
27 Mr.Faizalis the owner offollowing 1 let out and 1 self occupied house properties. Find out the

net annual value for the Assessment Year Z01b-16.
. ------"--:-- :--- -Y.

.t...

:

Municipai rental value

Fair rental vdlurS

Standardrent

32,000

34,000

' Municipal taxes.- due

28 Mr. X sells agricultural land situated in an urban area for Rs. 10, 31,000 (brokerage 2 Vo) on
March 31st, 2015.(Cost of acquisition ?0,000 on March lst, 1982, itwas 

"r"A 
ior rii*fr*rf

. (a) Agricultural land : Rs. 1,50,000

(b) A residential house property : Rs. b,00,000.

Find out the capital gains chafgeable to tax for A.Y. 2,0i3.5.2AL6. CI Inhex for 201a-1S is 1024
and for 1986-S7 it vna3 140:

(5x2=l0weightage)
IV. Essay questions. Answer any frug questions; each qtiestion carries a weightage of 4 :

29 Examine the steps applicable to computation of tbtal'ineome anil tax liability of individuals ?

30 Mr. Dravid provided the following information about his salary income. He iS working in a
company at Ranchi (population 15 lakhs).

Basic Sa'lary-11s. 12,000 p.m.

Profit Bonus-Rs. 12,000

Entertainment ailowance-Rs. 2,000:p.rn. ' ll

Club facility-Rs. 6,000.

Transport allowance-l,OO0 p:m.

Free use of car of more than 1.6 litres capacity. It is for both personal and ernployment purpose.

. name of the employerF-Rs.22,500. :

Gas water and electricity of employer-Rs. 16,800,

Compute income from sa.lary for the A. Y. 201b-16.
, ' Turn over
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i;*::e 

was c:{npleted on April !,20t4and folrowing information is availabre 

""ilt:lr ' 'lvlunicipal vaiue of the house_Rs. 80,000 p.a.

Actual Rent_Rs. 4,000 p.in.
Municipal Taxes_Rs. 6,d00 p.a.

.ha '.the house Was let_orrt fn, ^ *^_:_ r

;;Je 
was let-Gut for a reriod l-4'2!014 to Br-rz-2014 and self occupied from 7_r.'r.. Fire insurance premium_Rs. 8,600.

' Land revenue_Rs. 6,000,
Interest on loan for the period , I :

l-", 
t_4_20Lt to B1_3-2014_Rs. 4b,000.' ,0, I-4-2014 to Bt_B_20lb-.Rs Ib,gOO.

calcurate the rncgme from house property for the p. y. ending on 31_3_2015.

ex4=gweightage)


